;Cat No	Title	Year	Medium	ı	Fram W		Work W	Area(sq in)	Framed?	Signed?	Sign location
00001			Oil on canvas	T Tulli TT	Train W	58	48.75		Framed	oignea.	Oigii iocation
00002			Oil on canvas			37.5	37.5		Tramod		
00003	Orb #2		Oil on canvas			24	40.25	966	Framed		
00004			Oil on canvas			24	40	960	Framed		
00005			Oil on canvas			35	45	1575	Framed		
00006	(Back of Seated Nude)	64-65	Oil on canvas			45	40.25	1811	Framed		
00007			Oil on canvas			26	40	1040	Framed		
80000			Oil on canvas			48	47.75	2292	Framed		
00009	Receeding Forms in the Lat					40	36	1440	Framed		
00010			Oil on canvas			50	40	2000	Framed		
00011			Oil on canvas			58	48.13	2791	Framed		
00012			Oil on canvas			40	29.75	1190	Framed		
00013			Oil on canvas			44	48	2112	Framed		
00014	Genesis - music; String Sor					54.25	40	2170	Framed		
00015			Oil on canvas			40	50	2000	Framed		
00016			Oil on canvas			40	36.25	1450	Framed		
00017			Oil on canvas			30	40	1200	Framed		
00018			Mixed media covered wit	h pape	r	34	39.5	1343	Framed		
00019			Oil on canvas			30	38	1140	Framed		
00020			Oil on canvas			30	40	1200	Framed		
00021			Oil on canvas			36	30	1080	Framed		
00022	[no card or picture for this no	umbe	r]								
00023		64-65	Oil on canvas			40	30	1200	Framed		
00024	Theme Variations V	1956	Oil on canvas			48	40	1920	Framed		
00025			Oil on canvas			29.5	47.75	1409	Framed		
00026	Crown		Oil on canvas			48	36	1728	Framed		
00027	Masks		Oil on canvas			40	24	960	Framed		
00028			Oil on canvas			40	50	2000	Framed		
00029			Oil on canvas			40	26	1040	Framed		
00030			Oil on canvas			48	36	1728	Framed		
00031			Oil on canvas, mixed med	lia		37.5	37.5	1406			
00032	Pavanne	-	Oil on canvas			48	36	1728	Framed		
00033	At An Exhibition	1960	Oil on canvas			40.5	26.5	1073	Framed		
00034	(#3)		Paper collage on paper			22	14	308	Framed		
00035		1981	Paper collage on paper			22	14	308	Framed		
00036			Paper collage on paper			14	22	308	Framed		
00037		1981	Paper collage on paper; r	mixed r	nedia	22	13	286	Framed	Signed	
00038			Painted paper collage			10.5	8.5	89	Framed	Signed	
00039			Painted paper collage			10.5	8.5	89	Framed	Unsigned	
00040	Cameo		Water color collage			10	10	100	Framed		

	Title	Year	Medium	From U	Fram W	Mark H	Mark M	Area(sq in)	Framed?	Signed?	Sign location
	Red Thrust		Acrylic on torn paper coll		Fram W	10	10		Framed	Signed?	Sign location
00041	Neu Illiust		Acrylic on torn paper coll			10	10	100	Framed		
	Sinking Orb		Acrylic on torn paper coll			10	10		Framed		
00043	Sirking Orb		Acrylic on torn paper coll				10.25	105	Framed		
00044			Acrylic on torn paper coll			10.25		105	Framed		
	Rising Orb		Acrylic on torn paper coll			10.25			Framed	Signed	
						10.25			Framed		
00047	Moonscape		Acrylic on torn paper coll			8.25	7.25			Signed Signed	
00048			Acrylic on torn paper coll			8.25	7.25		Framed		
	Casas Orb Falinas		Acrylic on torn paper coll						Framed	Signed	
	Green Orb Eclipse		Acrylic on torn paper coll	age		7.25	8.25	60	Framed		
	Balloon Watch		Acrylic on paper collage			7.25	8.25		Framed	0:	
	Orb Series (III) (I) ??		Acrylic on paper collage			8.25	7.25		Framed	Signed	
00053			Acrylic on paper collage			7.25	8.25		Framed	Signed	
00054			Acrylic on paper collage			8.25	7.25		Framed	Signed	
00055			Acrylic on paper collage			8.25	7.25		Framed	Signed	
	Landscape with Eye #5		Acrylic on paper collage			7.25	8.25		Framed	Signed	
	Facing Orbs		Acrylic water color on pa	per coll	age	7.25	8.25		Framed	Signed	
00058			Acrylic on paper collage			8.25	7.25		Framed		
	Watching Orbs		Acrylic on paper collage	7.25		7.25	8.25		Framed	Signed	
	Study in Verticals #2		Acrylic on paper collage	7.25		7.25	8.25		Framed		
00061			Craypods on paper	8.25	7.25	8.25	7.25	60	Framed		
00062			Mixed media - recycled p						Framed		
00063			Mixed media collage	25	19				Framed		
	Holocost Series #4		Burnt recycled paper coll	20.25	24.25				Framed		
00065			Handmade paper collage	18.5	18.5				Framed		
00066			Mixed media collage	14.5	16.25				Framed		
00067 I	Largo		Mixed media collage	14.25	14.25				Framed		
00068			Handmade paper collage	14.5	16.25				Framed		
00069	Untitled		Mixed media collage	24.25	18.5				Framed		
00070			Mixed paper collage	18.25	24.25				Framed		
00071			Mixed paper collage	22.25	18.25				Framed		
00072	#3 H Series #3		Mixed paper collage		18.25				Framed		
00073	Notitle		Handmade paper	20.25					Framed		
00074			Mixed paper collage			16	20	320		Unsigned	
	Thru the Eye of A Needle		Mixed paper collage	20.25	14.25				Framed		
00076	,		Mixed paper collage	20.25					Framed		
	End of Summer #4			22.25		19	13	247	Framed	Signed	
	End of Summer #2		Mixed media collage on			18.5	13		Framed	Signed	
	End of Summer		Mixed paper watercolor of			12.5	19	238	Framed	Signed	
	September Song		Mixed paper watercolor of				13		Framed	Signed	

1996   Mixed paper watercolor c 16.25   22.25   13.5   18   243   Framed   Signed		I				riaiog						
1996   Mixed paper watercolor c   16.25   22.25   3.3.5   18   243   Framed   Signed	;Cat No											Sign location
			1996				13.5	18	243			
Paper collage   Paper collage   22.25   13.25   Framed   Signed												
Mixed media collage												
Mixed media collage on   22.25   13.25												
Mixed media collage on   22.25   3.25     Framed   Signed				<u> </u>								
Paper collage   20.25   13.25	00087											
				•								
										Framed		
Disintegrating Fences   Mixed media collage   13.25   22.25   Framed   Signed	00090			Poured handmade paper	13.25	22.25				Framed	Signed	
Series #4   Burnt paper collage   22.25   14.25   Framed   Signed	00091	Fragments #2		Mixed media paper collaç	FS??>	·>	13.25	22.25	295	Framed	Signed	
Display   Banners   Mixed media collage on   15.25   22.25   Framed   Signed	00092	Disintegrating Fences		Mixed media collage	13.25	22.25				Framed	Signed	
Display   Banners   Mixed media collage on   15.25   22.25   Framed   Signed	00093	Series #4								Framed	Signed	
Handmade paper collage   18.25   12.25   Framed   Signed	00094	Banners		Mixed media collage on p	15.25	22.25				Framed	Signed	
Handmade paper collage   18.25   12.25   Framed   Signed   Mixed media collage   14.25   14.25   Framed   Signed   Sig	00095	Coll Age (collage???)		Handmade paper collage	18.25	15.25				Framed	Signed	
Mixed media collage   16.25   14.5   Framed   Signed   Mixed media collage   14.25   14.25   Tramed   Signed   Mixed media collage   14.25	00096			Handmade paper collage	18.25	12.25					Signed	
Discrimination of the color o	00097	#31		Handmade paper collage	18.25	12.25				Framed	Signed	
Discrimination   Disc	00098			Mixed media collage	16.25	14.5				Framed	Signed	
Dig	00099	Bark Series - Serenade #4		Mixed media collage	14.25	14.25				Framed	Signed	
Discrimination   Disc	00100	Vivace		Mixed media collage	14.25	14.25				Framed	Signed	
Discrimination   Disc	00101	Bark Series - Cadenza		Mixed media collage	14.25	14.25				Framed	Signed	
Discrimination   Disc	00102	Bark Series - Forte #3		Mixed media collage	14.25	14.25				Framed	Signed	
Dig	00103	Bark Series - Fantasia		Mixed media collage	14.25	14.25				Framed		
Discrete   Mixed media collage   14.25   14.25	00104	Bark Series - Adagio #10		Mixed media collage	14.25	14.25				Framed	Signed	
Double   D	00105	Bark Series - Allegro #6		Mixed media collage	14.25	14.25				Framed		
Torn paper collage	00106	Net		Mixed media collage	16.25	14.5	12	8.75	105	Framed	Signed	
Torn paper collage	00107	Multi-Forms	1983	Handmade paper collage	18.25	24.25				Framed	Signed	
Handmade paper collage   16.25   24.25	00108									Framed	Signed	
Mixed media collage   22.25   16.25   18   12   216   Framed   Signed	00109				16.25	24.25				Framed		
Dig	00110			Mixed media collage	22.25	16.25	18	12	216		Signed	
Digordard Counties   1983   Mixed media collage   28.25   15.25	00111	Escape										
Doll	00112		1983									
00114         Multi-Forms #8, #4         1983         Poured handmade paper collage         18.75         18.75         352         Framed         Signed           00115         Cityscape #14         Watercolor         19.38         14.68         16         11.25         180         Framed         Signed           00116         Oil on masonite         20         16         320         Unframed         Signed           00117         Mixed media collage         24.25         18.25         15.75         12.5         197         Framed         Signed           00118         Handmade paper collage         24.5         24.5         18         18         324         Framed         Signed           00119         Mixed media collage on board         22.13         12         266         Unframed         Unsigned	00113											
00115         Cityscape #14         Watercolor         19.38         14.68         16         11.25         180         Framed         Signed           00116         Oil on masonite         20         16         320         Unframed         Signed         on back           00117         Mixed media collage         24.25         18.25         15.75         12.5         197         Framed         Signed           00118         Handmade paper collage         24.5         24.5         18         18         324         Framed         Signed           00119         Mixed media collage on board         22.13         12         266         Unframed         Unsigned	00114						18.75	18.75	352			
O0116         Oil on masonite         20         16         320         Unframed Signed on back           00117         Mixed media collage         24.25         18.25         15.75         12.5         197         Framed Signed           00118         Handmade paper collage         24.5         24.5         18         18         324         Framed Signed           00119         Mixed media collage on board         22.13         12         266         Unframed Unsigned	00115	*										
Mixed media collage         24.25         18.25         15.75         12.5         197         Framed         Signed           00118         Handmade paper collage         24.5         24.5         18         18         324         Framed         Signed           00119         Mixed media collage on board         22.13         12         266         Unframed         Unsigned	00116											on back
00118 Handmade paper collage 24.5 24.5 18 18 324 Framed Signed 00119 Mixed media collage on board 22.13 12 266 Unframed Unsigned	00117				24.25	18.25	15.75					
Mixed media collage on board 22.13 12 266 Unframed Unsigned	00118											
	00119											
Mixed media collage on board 15 21.75 326 Unframed Signed on back	00120			Mixed media collage on b								on back

00121         Paper collage         20.5         13.5         Framed         S           00122         Blue Series #3         Paper collage         20.5         13.5         Framed         S           00123         Blue Series #3 (same name as 0(Paper collage         20.5         13.5         Framed         S           00124         Mixed media collage on r         22.25         14.25         Framed         S           00125         Watercolor & torn paper         20.5         16         15.75         11.75         185         Framed         S	Signed Signed Signed Signed Signed Signed Signed Signed	Sign location
00122         Blue Series #3         Paper collage         20.5         13.5         Framed         5           00123         Blue Series #3 (same name as 0 Paper collage         20.5         13.5         Framed         5           00124         Mixed media collage on r         22.25         14.25         Framed         5           00125         Watercolor & torn paper         20.5         16         15.75         11.75         185         Framed         5	Signed Signed Signed Signed Signed Signed	lower right
00123         Blue Series #3 (same name as 0 Paper collage         20.5         13.5         Framed         5           00124         Mixed media collage on ; 22.25         14.25         Framed         5           00125         Watercolor & torn paper         20.5         16         15.75         11.75         185         Framed         5	Signed Signed Signed Signed	lower right
00124         Mixed media collage on r         22.25         14.25         Framed         S           00125         Watercolor & torn paper         20.5         16         15.75         11.75         185         Framed         S	Signed Signed Signed	lower right
00125 Watercolor & torn paper 20.5 16 15.75 11.75 185 Framed S	Signed Signed	lower right
	Signed	
I00126   End of Summer #7         Watercolor & collage		
	Signed	
	Unsigned	
	Unsigned	
	Signed	
00139 Handmade paper collage 28.25 20.25 Framed S	Signed	
	Signed	
00141 Brown Form Torn paper collage 28.5 22.5 Framed S	Signed	lower right
	Signed	
	Signed	
	Signed	
00145 Nocturne Mixed media collage 22.5 24.5 Framed S	Signed	
00146 Handmade paper collage 32.75 22.75 Framed S	Signed	
00147 Overture Mixed media collage 33.5 27 Framed S	Signed	
00148 Handmade paper collage 26.75 24 Framed S	Signed	
00149 Handmade paper collage 17.38 44.5 Framed S	Signed	
	Signed	
00151 Apple Orchard Paint on canvas 30 24.25 728 Unframed U	Unsigned	
00152 Paint on canvas 36.25 30 1088 Unframed U	Unsigned	
	Signed	on back
	Signed	
	Unsigned	
	Signed	
	Unsigned	
	Signed	
	Unsigned	
	Signed	

				italog				T		
		Medium			Work H	Work W	Area(sq in)	Framed?	Signed?	Sign location
00161		Oil on canvas		37.25				Framed	Signed	on back
00162		Oil on canvas	42	27.68	40	26		Framed	Signed	
		Oil on canvas	31.5	23.5	30	22	660	Framed	Signed	on back
		Oil on canvas	31.5	23.5	30	22	660	Framed	Signed	
00165		Oil on canvas	41.5	31.5	40	30		Framed	Signed	on back
00166		Oil on canvas	21.5	37.5	20	36		Framed	Unsigned	
	Abstraction/Way Gray Tent/ 1953			23.13	30	19.75	593	Framed	Signed	on back
		Paint on canvas		26.38				Framed	Signed	on back
00169		Paint on canvas		22.75				Framed	Unsigned	
00170		Paint on canvas	36.5	24.5	36	24	864	Framed	Signed	
00171		Oil on canvas		37.38	24	36	864	Framed	Signed	on back
00172		Paint on canvas	41.38		40	16	640	Framed	Signed	on back
00173		Paint on canvas	40.5	26.5				Framed	Signed	
00174		Oil on canvas	41.5	25.38	40	24	960	Framed	Unsigned	
00175		Oil on canvas	40.5	26.5	-	-		Framed	Signed	
00176		Paint on canvas	24.75	28.5				Framed	Signed	
00177		Watercolor on paper	25	19.38				Framed	Signed	
00178		Charcoal & watercolor or	20	25				Framed	Signed	
00179		Oil on canvas	32.38	25.68	31	24	744	Framed	Signed	
00180	Still Life	Oil on board	32	24	30	22	660	Framed	Signed	on back
00181		Pastel on homemade par	20.25	16.5				Framed	Signed	right side & t
00182	Floating Grays #27	Watercolor on paper			18.34	24.68	453	Framed	Unsigned	
00183		Charcoal on board			24	19	456	Unframed	Signed	
00184		Watercolor on paper	21.5	29.5				Framed	Signed	
00185	Dance to the Sun #16	Watercolor on paper			24	24	576	Framed	Signed	
00186	Belicate Orb #33	Watercolor on paper						Framed	Signed	left side & bo
00187	Masada Sunset	Watercolor & collage	23.88	16.88				Framed	Signed	
00188		Pastel & collage on pape	36.38	28.25				Framed	Signed	on back
00189	Split Form 1984	Watercolor on paper	25.25	31				Framed	Signed	left side & bo
00190		Watercolor on paper	28	33.5				Framed	Signed	on back
00191	1987	Watercolor on paper	21.38	29.5				Framed	Signed	
00192		Watercolor on handmade	20	41.25				Framed	Signed	
00193		Mixed media collage on t	36	30				Framed	Signed	on back
00194		Mixed media collage on t	34	28				Framed	Unsigned	
00195		Mixed media collage on t	34	28				Framed	Signed	on back
		Mixed media collage on t		24.5				Framed	Unsigned	
00197	3	Oil on canvas	28	23.75				Framed	Signed	on back
00198		Oil on canvas	28.5	24.5				Framed	Signed	
		Paint on board	28.75					Framed	Signed	on back
00200		Paint on canvas			21.5	27.5	591	Framed	Unsigned	

Dil on board   Dil	f				rtaiog				1	T	1
1946   Pastels on paper   19.5   26.5   Framed   Signed   On back	,	Title Year		Fram H	Fram W				Framed?	Signed?	Sign location
1946   Pastels on paper   19.5   26.5   Framed   Signed   lower right   1975   Watercolor on handmade 24.25   20.25   Framed   Signed   top & bottom   500206   Signed   lower right   17.5   26.5   Framed   Signed   lower right   17.5   18.5   Framed   Signed   lower right   18.5   Framed   Signed   I8.5   Framed   Signed   I8.5   Framed   Signed   I8.5   Framed   Signed   I8.5   Framed			Oil on board								
Oil on board   19   24.75   Framed   Signed   on back						18	24	432			
		1946									
District   District											•
00208         Soft Circles (AP)         1968 Block print         17         25.25         Framed         Signed         lower right           00210        Forms (1/10)         Block print         28         26         Framed         Signed         lower right           00211         Forms (AP)         Block print         28         26         Framed         Signed         lower right           00212         Jonah was Swallowed         1967 Mixed media collage         33.75         26.75         Framed         Signed         lower right           00213         Jonah was Swallowed         1967 Mixed media collage on t         16         12.5         Framed         Signed         Unsigned           00214         Mixed media collage on t         16         12.5         Framed         Unsigned           00216         Death in the Afternoon         Mixed media collage on t         15.5         30.68         Framed         Signed         on back           00216         Death in the Afternoon         Mixed media collage on t         35.68         17.5         Framed         Signed         on back           00216         Marbella Moon         Mixed media collage on t         35.68         17.5         Framed         Signed         on back		Rock Forms	•						Framed		
100209   3 Orbs   Block print   25.5   26.25   Framed   Signed   top & bottom   28   26   Framed   Signed   lower right   100211   Forms (AP)   Block print   28   26   Framed   Signed   lower right   100211   Forms (AP)   Block print   33.75   26.75   Framed   Signed   lower right   100212   Jonah was Swallowed   1967 Mixed media collage   23.5   3.4   Framed   Signed   16   12.5   Framed   Unsigned	00207										
Digital   Forms (1/10)   Block print   28   26   Framed   Signed   Iower right	00208	` ,							Framed		
	00209		Block print						Framed	Signed	top & bottom
	00210	Forms (1/10)	Block print	28	26				Framed	Signed	lower right
Mixed media collage on t   16   12.5   Framed   Unsigned	00211			33.75	26.75				Framed		
Mixed media collage on t   16   12.5	00212	Jonah was Swallowed 1967	Mixed media collage	23.5	34				Framed	Signed	
Mixed media collage on t	00213		Mixed media collage on b						Framed	Unsigned	
Death in the Afternoon   Mixed media collage on   15.5   30.68   Framed   Unsigned   On back   On back	00214				12.5				Framed	Unsigned	
Occupance   Mixed media collage on   30.68   15.5   Framed   Signed   On back	00215		Mixed media collage on b	16	12.5				Framed	Signed	
Marbella Moon	00216	Death in the Afternoon	Mixed media collage on b	15.5	30.68				Framed	Unsigned	
Mixed media collage on t   41.25   14.5	00217	Caricature	Mixed media collage on b	30.68	15.5				Framed	Signed	on back
Mixed media paint collage on board   28.88   23   664   Unframed   Signed	00218	Marbella Moon	Mixed media collage on b	35.68	17.5				Framed	Signed	on back
Mixed media collage on t   31   35.5	00219		Mixed media collage on b	41.25	14.5				Framed	Signed	on back
Charcoal & pastel on par   25.5   30.5   Framed   Signed	00220		Mixed media paint collage	e on bo	oard	28.88	23	664	Unframed	Signed	
Abstract Forms / Darj Cresc   1967   Mixed media collage on t   33   24   Framed   Signed	00221		Mixed media collage on b	31	35.5				Framed	Signed	
Double Orb   Watercolor mixed media   21.75   27.25   Framed   Signed	00222		Charcoal & pastel on pap	25.5	30.5				Framed	Signed	
Note	00223	Abstract Forms / Darj Cresc 1967	Mixed media collage on b	33					Framed	Signed	
00226         Oil on board         Framed         Unsigned           00227         Cell-life Force         Oil on canvas         42         27.5         1155         Signed         on back           00228         Oil on canvas         12.5         20.5         11         19         209         Framed         Signed           00229         Red Cloud Genesis / Red Cloud Oil on board         20         18.75         Framed         Signed           00230         Oil on board         17         21.25         Framed         Signed           00231         Oil on board         19         25         Framed         Signed           00232         Genisis         Oil on board         21         17.25         Framed         Signed           00233         Red Form         Oil on board         21         17.25         Framed         Unsigned           00234         Genisis - Earth Forms (#2 framec)         Oil on board         21         25.25         Framed         Signed on back           00235         Oil on canvas         26.5         36.5         25         35         875         Framed         Signed on back           00236         Mixed media collage on paper         24.68         18.68	00224	Double Orb	Watercolor mixed media	21.75					Framed	Signed	
00227 Cell-life Force         Oil on canvas         42 27.5         1155         Signed on back           00228 Red Cloud Genesis / Red Cloud i Oil on board         20 18.75         Framed         Framed Signed           00230 Occasion         Oil on board         17 21.25         Framed Signed on back           00231 Occasion         Oil on board         19 25         Framed Signed on back           00232 Genisis         Oil on board         14 25         Framed Signed on back           00233 Red Form         Oil on board         21 17.25         Framed Unsigned           00234 Genisis - Earth Forms (#2 framed Oil on board         21 25.25         Framed Signed on back           00235 Occasion         Oil on canvas         26.5 36.5 25 35 875         Framed Signed on back           00236 Occasion         Mixed media collage on paper Occasion         24.68 18.68 461         Framed Signed Occasion           00237 Sea Story         Handmade paper mixed Paper mixed Paper mixed Occasion         23 25         Framed Closed Occasion           00238 Goodly Are Thy Tents         Mixed media collage on t 29.25 21.25         Framed Unsigned Unsigned           00239 Samson's Triumph         Mixed media collage on t 29.5 21.5         21.5         Framed Unsigned	00225	Red Orb (Leaves and Gras: 1967)	Watercolor mixed media	21	25.25				Framed	Signed	
Oil on canvas   12.5   20.5   11   19   209   Framed	00226		Oil on board						Framed	Unsigned	
Red Cloud Genesis / Red Cloud   Oil on board   20   18.75	00227	Cell-life Force	Oil on canvas			42	27.5	1155		Signed	on back
00230         Oil on board         17         21.25         Framed         Signed         on back           00231         Oil on board         19         25         Framed         Signed         on back           00232         Genisis         Oil on board         14         25         Framed         Signed         on back           00233         Red Form         Oil on board         21         17.25         Framed         Unsigned           00234         Genisis - Earth Forms (#2 framed)         Oil on board         21         25.25         Framed         Signed on back           00235         Oil on canvas         26.5         36.5         25         35         875         Framed         Signed on back           00236         Mixed media collage on paper         24.68         18.68         461         Framed         Signed           00237         Sea Story         Handmade paper mixed         23         25         Framed         Signed           00238         Goodly Are Thy Tents         Mixed media collage on t         29.25         21.25         Framed         Unsigned           00239         Samson's Triumph         Mixed media collage on t         29.5         21.5         Framed         Unsigned </td <td>00228</td> <td></td> <td>Oil on canvas</td> <td>12.5</td> <td>20.5</td> <td>11</td> <td>19</td> <td>209</td> <td>Framed</td> <td>_</td> <td></td>	00228		Oil on canvas	12.5	20.5	11	19	209	Framed	_	
00231Oil on board1925FramedSigned00232GenisisOil on board1425FramedSigned on back00233Red FormOil on board2117.25FramedUnsigned00234Genisis - Earth Forms (#2 framed Oil on board2125.25FramedSigned on back00235Oil on canvas26.536.52535875FramedSigned on back00236Mixed media collage on paper24.6818.68461FramedSigned00237Sea StoryHandmade paper mixed2325FramedSigned00238Goodly Are Thy TentsMixed media collage on t29.2521.25FramedUnsigned00239Samson's TriumphMixed media collage on t29.521.5FramedUnsigned	00229	Red Cloud Genesis / Red Cloud 7	Oil on board	20	18.75				Framed	Signed	
00232GenisisOil on board1425FramedSignedon back00233Red FormOil on board2117.25FramedUnsigned00234Genisis - Earth Forms (#2 framed Oil on board2125.25Framed Signed on back00235Oil on canvas26.536.52535875Framed Signed on back00236Mixed media collage on paper24.6818.68461Framed Signed00237Sea StoryHandmade paper mixed 2325Framed Signed00238Goodly Are Thy TentsMixed media collage on t 29.2521.25Framed Unsigned00239Samson's TriumphMixed media collage on t 29.521.5Framed Unsigned	00230		Oil on board	17	21.25				Framed	Signed	on back
Red Form   Oil on board   21   17.25   Framed   Unsigned   Oil on board   21   25.25   Framed   Signed   On back   Oil on canvas   26.5   36.5   25   35   875   Framed   Signed   On back   Oil on canvas   Oil on canvas	00231		Oil on board	19	25				Framed	Signed	
00234Genisis - Earth Forms (#2 framed 0il on board 002352125.25Framed Signed on back 0023500236Oil on canvas 0023636.52535875Framed Signed on back 0023600237Sea Story Handmade paper mixed 00238Handmade paper mixed 02325Framed Signed 0023600238Goodly Are Thy Tents 00239Mixed media collage on t 29.2521.25Framed Unsigned 0023600239Samson's Triumph 00239Mixed media collage on t 29.521.5Framed Unsigned 00236	00232	Genisis	Oil on board	14	25				Framed	Signed	on back
00234Genisis - Earth Forms (#2 framed Oil on board 002352125.25Framed Signed on back 0023500236Oil on canvas 00236Mixed media collage on paper 0023724.6818.68461Framed Signed 0023600237Sea Story 00238Handmade paper mixed 02325Framed Signed 0023600238Goodly Are Thy Tents 00239Mixed media collage on t 29.2521.25Framed 0023600239Samson's Triumph 00239Mixed media collage on t 29.521.5Framed 00236	00233	Red Form	Oil on board	21	17.25				Framed		
00235Oil on canvas26.536.52535875FramedSignedon back00236Mixed media collage on paper24.6818.68461FramedSigned00237Sea StoryHandmade paper mixed2325FramedSigned00238Goodly Are Thy TentsMixed media collage on t29.2521.25FramedUnsigned00239Samson's TriumphMixed media collage on t29.521.5FramedUnsigned	00234	Genisis - Earth Forms (#2 framed		21							on back
Mixed media collage on paper24.6818.68461FramedSigned00237Sea StoryHandmade paper mixed2325FramedSigned00238Goodly Are Thy TentsMixed media collage on t29.2521.25FramedUnsigned00239Samson's TriumphMixed media collage on t29.521.5FramedUnsigned	00235			26.5	36.5	25	35	875	Framed		on back
00237Sea StoryHandmade paper mixed2325FramedSigned00238Goodly Are Thy TentsMixed media collage on t29.2521.25FramedUnsigned00239Samson's TriumphMixed media collage on t29.521.5FramedUnsigned	00236					24.68					
00238 Goodly Are Thy Tents Mixed media collage on t 29.25 21.25 Framed Unsigned 00239 Samson's Triumph Mixed media collage on t 29.5 21.5 Framed Unsigned	00237	Sea Story	)		25						
00239 Samson's Triumph Mixed media collage on t 29.5 21.5 Framed Unsigned	00238	,									
	00239										
		•								Signed	on back

;Cat No	Title	Year	Medium	ı	Fram W	· .	Work W	Area(sq in)	Framed?	Signed?	Sign location
00241	Alhambra		Mixed media collage on t		26	WOIKH	WOIK W	Area(sq III)	Framed	Signed	Sign location
00241	Allallibra		Mixed media collage in p		20	24.5	18.5	453	Unframed		
00242			Mixed media collage in pl			19	14.5		Unframed		on back
00243			Mixed media collage in pl			18	12		Unframed		on back
00244			Mixed media collage on b			8.675	20		Unframed		UII Dack
00246	Jacob's Ladder		Mixed media collage on t		14.25	0.073	20	174	Framed	Signed	
00247	Jacob's Laddel		Pastels on paper	23	17.38				Framed	Signed	
00247	(12)		Pastels on paper	23	17.88				Framed	Signed	
00249	(11)		Pastels on paper	23	17.38				Framed	Signed	
00250	(16)		Pastels on paper	23	17.38				Framed	Signed	
00251	(10)		Pastels on paper	17.38	23				Framed	Signed	
00252	(13)		Pastels on paper	17.38	23				Framed	Signed	
00253	They Wandered in the Dese	2rt	Mixed media collage on t		24.5				Framed	Unsigned	
00254	They wandered in the Beec		Mixed media collage on k		24				Framed	Unsigned	
00255			Mixed media collage on t		24.68				Framed	Unsigned	
00256			Mixed media collage on k		25				Framed	Unsigned	
00257			Mixed media collage on b		24				Framed	Signed	
00258	(3)		Mixed media collage on b		24				Framed	Signed	
00259	Ebb and Flow (5)		Mixed media collage on k		24				Framed	Signed	
00260	Collage Relief?		Mixed media collage on b		24.75				Framed	Signed	on back
00261	Terramar Alto		Mixed media collage on b		27.5				Framed	Signed	
00262			Mixed media collage on k		28				Framed	Signed	
00263			Mixed media collage on k		27.5				Framed	Signed	on back
00264			Mixed media collage on k		28				Framed	Signed	on back
00265			Oil on board			12	16	192	Unframed		on back
00266	Man Descending		Oil on board			16	12	192	Unframed	Signed	on back
00267			Oil on board			16	20	320	Unframed	Signed	on back
00268			Oil on board			20	24	480	Unframed		
00269			Oil on canvas			20	16		Unframed	Unsigned	
00270			Oil on canvas			16	20	320	Unframed	Unsigned	
00271			Oil on board			20	16		Unframed		
00272			Oil on canvas			20	16		Unframed	Unsigned	
00273			Oil on canvas			20	16		Unframed		
00274			Oil on board			20	16		Unframed		on back
00275			Oil on board			16	20		Unframed		on back
00276			Oil on board			20	16		Unframed		on back
00277			Oil on canvas			12	9.5	114	Framed	Signed	on back
00278	Verticals (A/P)		Color etching	17.5	14.5				Framed	Signed	
00279	Votive Lights	1967	Oil on canvas			12	16		Framed	Signed	on back
00280			Oil on canvas			25.5	20	510	Unframed	Signed	

	1								I		
;Cat No	Title		Medium		Fram W	Work H	Work W	Area(sq in)	Framed?	Signed?	Sign location
00281			Paint on board	27.5	24				Framed	Signed	
00282	Odine		Color etching	17	30				Framed	Signed	
00283			Mixed media collage on t						Framed	Signed	
00284			Mixed media collage on բ						Framed	Signed	
00285	Multi-layered Forms	1983	Poured paper & Mixed m						Framed	Signed	
00286			Handmade paper & Mixe						Framed	Signed	
00287			Handmade paper & Mixe			31.67	22.5	713	Framed	Signed	
00288		1987	Handmade paper & Mixe						Framed	Signed	multiple
00289			Handmade paper & Mixe	32.87					Framed	Signed	
00290			Watercolor & paper collag	33.67	28				Framed	Signed	on back
00291	Abstract Form #2		Oil on parchment			27.75	23.75	659	Framed	Signed	on back
00292	Three Forms #1 of 10	1968	Color etching	28.12	22				Framed	Signed	
00293	Three Forms #3 of 10	1968	Color etching	31	37				Framed	Signed	
00294	Penetrated Orb		Oil on paper	20.5	27.5				Framed	Signed	
00295		1981	Watercolor on paper			24.25	29	703	Framed	Signed	
00296	White Form		Colograph etching	20	28				Framed	Signed	artist's proof
00297	End of Summer #1		Watercolor mixed media	22.25	16.25				Framed	Signed	
00298	White Torso		Intaglio print	20.75	16.75				Framed	Signed	artist's proof
00299			Oil on canvas	37.5	25.5	36.25	24	870	Framed	Signed	signature fa
00300	Green Nude		Oil on canvas	21	17.25				Framed	Signed	
00301			Paint on paper	24.25	21.25				Framed	Unsigned	
00302			Paint on paper	25.25	21.25				Framed	Unsigned	
00303	Under Pharaoh's Lash		Mixed media collage on t	20.38	14.12				Framed	Signed	
00304	Bricks Without Straw		Mixed media collage on t						Framed	Signed	
00305			Painted paper & mixed m	8.5	10.5				Framed	Signed	
00306	Black Study with Orbs		Torn paper & mixed med						Framed	Signed	
00307			Torn paper & paint collag						Framed	Signed	
00308	Orb Series II		Torn paper & paint collag						Framed	Signed	
00309			Torn paper & paint collag		13.25				Framed	Signed	
00310			Mixed media collage on t		48				Framed	Unsigned	
00311			Handmade paper & Mixe		20.25				Framed	Signed	
00312	Con Brio 12		Handmade paper & Mixe						Framed	Signed	
00313	Remains of Summer		Handmade paper & Mixe						Framed	Signed	top & botton
00314	Dover Beach		Handmade paper & Mixe						Framed	Signed	bottom & sig
00315			???	18.25		12	16	192	Framed	Unsigned	
00316			Oil on canvas	25.5	19.5	24	18	432	Framed	Signed	
00317			Oil on canvas		21.25	26	19.5	507	Framed	Signed	on back
00318	Split Form		Oil on canvas	53.5		51.5	44	2266	Framed	Signed	on back
00319	The Studio		Oil on canvas	37.63	25.5	36	24	864	Framed	Signed	3 <b>220</b> 11
	2.00.0			300							
00320			Oil on canvas			37.5	37.5	1406	Framed	Signed	

0.41	I	I							0: 10	0: 1 ::
		Medium			Work H	Work W	Area(sq in)	Framed?	Signed?	Sign location
00321	Fiesta	Oil on canvas	37.5					Framed		
00322	(head in hand)	Oil on canvas		26.63				Framed		
00323		Oil on canvas	41.5					Framed		
00324	Genesis - Perpetual Motion	Oil on canvas	33.38					Framed		
00325	Spiral Fauna	Oil on canvas	37.5					Framed		
00326	Biologic Forms	Ink intaglio print on paper						Framed		
00327	Sunlit Glade 1962	Oil on canvas	33.75					Framed		
00328		Watercolor	15.88	12.88				Framed	Signed	
	[[ no card ]]									
00330		Oil on canvas	21.25					Framed		
00331	1967	Print	14.25	12.38				Framed		
00332		Mixed media collage & ge	24.25	18.25				Framed	Signed	on back righ
00333	(Flowers in vase)	Oil on canvas	34.87	24.87				Framed	Signed	
00334	Blue Boy	Oil on canvas	41.5	37.5				Framed		
00335	,	Print	17	21				Framed	Signed	
00336	1968	Print	20.25	23.5				Framed		
00337	Genesis - The Sea and He Made	Oil on canvas	37.75	43.75				Framed		
00338	Doors	Print	22.5					Framed		
00339	Gateway to a Shrine	Watercolor		33.83	24.5	18.75	459	Framed		
00340	Pavanne	Handmade paper & Mixe						Framed		
00341	Capriccio	Handmade paper & Mixe						Framed		
00342		Torn paper collage	7.25					Framed		
00343		Print	12.25					Framed		
00344		Print, watercolor, pewabe						Framed		
00345	Split Orb A/P	Etching, mixed media	26.63		18	22.5	405	Framed	Signed	bottom left
	[[ no card ]]							Framed	Signed	bottom right
00347	Happy Birthday From Love	Reweil?? On paper	12.5	10.13					3.13.1	a care a signa
00348	A/P	Print, etching		15.38	7	8.75	61	Framed	Signed	bottom left
00349	Bark Series/Presto/Andante	Mixed media collage		14.25		00		Framed	Signed	bottom left
	[[ no card ]]	Mixed media collage		0				Framed	Signed	bottom left
00351	[[ ca.a ]]	Mixed media collage	10.5	8.375				Framed	Signed	
00352	Bark series/Dolce	Mixed media collage		14.25				Framed	Unsigned	
00353	Music of the Spheres	Mixed media collage	48					Framed	Unsigned	
00354	Thy Dwelling Places O'Israel	Mixed media collage	48.75					Framed	Unsigned	
00355	He Saw That It Was Good	Mixed media collage		24.88				Framed	Unsigned	
00356	(white series)	Mixed media collage	24	48				Framed	Signed	bottom right
00357	Theme	Oil on canvas	41.75		40	26	1040	Framed	Signed	on back
00357	Theme 28/14	Oil on canvas	51.5		50.25	28	1407	Framed	Initialed	bottom right
00359	32-53	Paper collage	30		24	18	432	Framed	Initialed	bottom right
		Oil on canvas	30	24	37.5	37.5	1406			on back
00360	1974	Oil on canvas			31.5	3/.5	1400	Unframed	Signed	OU DACK

00385         Emerge         Print, watercolor on pape         16.5         16.13         Framed         Signed         bottom right           00386         Red Orb White Forms         Paper collage         28.5         22.5         Framed         Signed         bottom right           00387         Landscape         Etching, print         23.25         17.25         16.75         10.75         180         Framed         Signed         bottom right           00388         Bring in the Clowns         1990         Mixed media collage         33.38         27         Framed         Signed         bottom right           00389         Mama Bear         Mixed media collage         40.25         19.25         Framed         Signed         bottom right           00390         Oil on board         42.25         34.5         40.5         33         1337         Framed         Signed         bottom right           00391         [card blank]         Framed         Framed         Framed         Framed           00392         [card blank]         Framed         Framed         Framed           00394         [card blank]         Framed         Framed         Framed           00396         [card blank]         Framed <th></th> <th>T</th> <th>T</th> <th></th> <th>itaiog</th> <th></th> <th></th> <th></th> <th>T</th> <th>I</th> <th>11</th>		T	T		itaiog				T	I	11
10362   (10/6)   Etching & watercolor on; 12.38   28.75   9.5   25.5   242   Framed   Unsigned   00363   White Canal   Oil on canvas   27.5   41.5   41.5   Unsigned   00364   Mixed media collage   12.24   13.25   12.38   9.375   116   Framed   Signed   Oil on canvas   0.0366   Oil on canvas   0.0376   Oil on canvas   0.0377   Oil on canvas   0.0376   Oil on canvas	,										
O30364   Mile Canal		` ,									bottom right
Mixed media collage   24.75   48.38   3.75   116   Framed   Signed   bottom right   1936   Mixed media collage   24.75   48.38   3.75   116   Framed   Signed   bottom right   1936   Mixed media collage & oi   19.5   25.5   18   24   432   Framed   Signed   on back   13.00   Mixed media collage on   10   13   Framed   Signed   on back   13.00   Mixed media collage on   10   13   Framed   Signed   on back   13.00   Mixed media collage on   14.63   11.63   9.5   8.125   77   Framed   Signed   bottom right   14.00   Mixed media collage on   13   10   Framed   Signed   bottom right   14.00   Mixed media collage   9   6.25   Signed   bottom right   14.00   Mixed media collage   9   6.25   Signed   bottom right   14.00   Mixed media collage   9   6.25   Signed   bottom right   14.00   Mixed media collage   21.5   29.5   Framed   Signed   bottom right   14.00   Mixed media collage   24.68   28.75   709   Signed   bottom right   14.00   Mixed media collage   24.68   28.75   709   Signed   bottom right   14.00   Mixed media collage   24.68   28.75   709   Signed   bottom right   14.00   Mixed media collage   24.68   28.75   709   Signed   bottom right   14.00   Mixed media collage   24.68   28.75   709   Signed   bottom right   24.68   Signed   S			<u> </u>			9.5	25.5	242			
Mixed media collage		vvnite Canai							Framed		on back, init
Oil on canvas   31						40.00		110			
Mixed media collage   No.   Mixed media collage   No.   10   13   10   13   10   14   15   15   15   15   15   15   15						12.38	9.375	116			
Note								100			
Happy Birthday Darling Dat 1985   Mixed media collage on   13   10   Framed   Signed   bottom right						18	24	432			
1986   Mixed media collage   9   6.25   Signed   Signed   On bottom right											
Mixed media collage   9   6.25   Framed Signed bottom right						9.5	8.125	77			
Mixed media collage   21.5   29.5     Framed   Signed   bottom left									Framed		
Mixed media   14.75   19   24.68   28.75   709   Signed   bottom right		Happy Birthday Jared (Grandma									
1983   Mixed media collage   24.68   28.75   709   Signed											
1966   Mixed media collage   22.25   16.25   18   12.75   230   Framed   Signed				14.75	19				Framed		bottom right
Mixed media paper & Mixed media collage   Mixed media paper & Mixed media collage   Mixed media paper collage   Signed   Mixed media collage   Signed											
Mixed media paper collader   25.5   18.5   20   13   260   Framed   Signed			J				12.75	230	Framed	Signed	
Output		Holocoust									
Oil on canvas   Oil on canva											
Oil on canvas   Oil on canva		Genesis									
00381         Oil on canvas         28         18         504         Unframed Signed         bottom left           00382         Oil on canvas         29         33         20         24         480         Framed         Unsigned           00383         Mixed media collage         16         14.25         Framed         Signed         Signed           00384         To Jared on his 17th Birthdi 1992         Mixed media collage         24.5         24.25         12         10.75         126         Framed         Signed         bottom right           00385         Emerge         Print, watercolor on pape         16.5         16.13         Framed         Signed         bottom right           00386         Red Orb White Forms         Paper collage         28.5         22.5         Framed         Signed         bottom right           00387         Landscape         Etching, print         23.25         17.25         16.75         10.75         180         Framed         Signed         bottom right           00388         Bring in the Clowns         1990         Mixed media collage         33.38         27         Framed         Signed         bottom right           00390         Mama Bear         Mixed media collage			Oil on canvas						Framed		
00382         Oil on canvas         29         33         20         24         480         Framed         Unsigned           00383         Mixed media collage         16         14.25         Framed         Signed           00384         To Jared on his 17th Birthd 1992         Mixed media collage         24.5         24.25         12         10.75         126         Framed         Signed         bottom right           00385         Emerge         Print, watercolor on pape         16.5         16.13         Framed         Signed         bottom right           00386         Red Orb White Forms         Paper collage         28.5         22.5         Framed         Signed         bottom right           00387         Landscape         Etching, print         23.25         17.25         16.75         10.75         180         Framed         Signed         bottom right           00388         Bring in the Clowns         1990         Mixed media collage         33.38         27         Framed         Signed         bottom right           00389         Mama Bear         Mixed media collage         40.25         19.25         Framed         Signed         bottom right           00391         [card blank]         Framed			Oil on canvas	37.75	21.88		20	720			
Mixed media collage   16   14.25											bottom left
00384         To Jared on his 17th Birthd; 1992         Mixed media collage         24.5         24.25         12         10.75         126         Framed         Signed         bottom right           00385         Emerge         Print, watercolor on pape         16.5         16.13         Framed         Signed         bottom right           00386         Red Orb White Forms         Paper collage         28.5         22.5         Framed         Signed         bottom right           00387         Landscape         Etching, print         23.25         17.25         16.75         10.75         180         Framed         Signed         bottom right           00388         Bring in the Clowns         1990         Mixed media collage         33.38         27         Framed         Signed         bottom right           00389         Mama Bear         Mixed media collage         40.25         19.25         Framed         Signed         bottom right           00391         [card blank]         Framed         Framed         Signed         bottom right           00392         [card blank]         Framed         Framed         Framed           00394         [card blank]         Framed         Framed         Framed <td< td=""><td></td><td></td><td>Oil on canvas</td><td></td><td></td><td>20</td><td>24</td><td>480</td><td>Framed</td><td>Unsigned</td><td></td></td<>			Oil on canvas			20	24	480	Framed	Unsigned	
00385         Emerge         Print, watercolor on pape         16.5         16.13         Framed         Signed         bottom right           00386         Red Orb White Forms         Paper collage         28.5         22.5         Framed         Signed         bottom right           00387         Landscape         Etching, print         23.25         17.25         16.75         10.75         180         Framed         Signed         bottom right           00388         Bring in the Clowns         1990         Mixed media collage         33.38         27         Framed         Signed         bottom right           00389         Mama Bear         Mixed media collage         40.25         19.25         Framed         Signed         bottom right           00390         Oil on board         42.25         34.5         40.5         33         1337         Framed         Signed         bottom right           00391         [card blank]         Framed         Framed         Framed         Framed           00392         [card blank]         Framed         Framed         Framed           00394         [card blank]         Framed         Framed         Framed           00396         [card blank]         Framed <td>00383</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>Framed</td> <td></td> <td></td>	00383								Framed		
00386         Red Orb White Forms         Paper collage         28.5         22.5         Framed         Signed         bottom right           00387         Landscape         Etching, print         23.25         17.25         16.75         10.75         180         Framed         Signed         bottom right           00388         Bring in the Clowns         1990         Mixed media collage         33.38         27         Framed         Signed         bottom right           00389         Mama Bear         Mixed media collage         40.25         19.25         Framed         Signed         bottom right           00390         Oil on board         42.25         34.5         40.5         33         1337         Framed         Signed         bottom right           00391         [card blank]         Framed         Framed         Framed         Framed           00392         [card blank]         Framed         Framed         Framed           00394         [card blank]         Framed         Framed         Framed           00395         [card blank]         Framed         Framed         Framed         Framed           00396         [card blank]         Framed         Framed         Framed         Fr	00384	To Jared on his 17th Birthd; 1992				12	10.75	126			
00387 Landscape         Etching, print         23.25 17.25 16.75 10.75         180 Framed Signed bottom right         bottom right           00388 Bring in the Clowns         1990 Mixed media collage         33.38 27         Framed Signed bottom right           00389 Mama Bear         Mixed media collage         40.25 19.25         Framed Signed bottom right           00390 Oil on board         42.25 34.5 40.5 33 1337 Framed Signed bottom right         Framed Signed bottom right           00391 [card blank]         Framed Framed Framed Signed bottom right         Framed Framed Framed Signed bottom right           00392 [card blank]         Framed Framed Framed Framed Framed Signed bottom right         Framed Fr			Print, watercolor on pape						Framed	Signed	bottom right
00388 Bring in the Clowns         1990 Mixed media collage         33.38 27         Framed Signed bottom right           00389 Mama Bear         Mixed media collage         40.25 19.25         Framed Signed bottom right           00390 Oil on board         42.25 34.5 40.5 33 1337         Framed Signed bottom right           00391 [card blank]         Framed         Framed           00392 [card blank]         Framed         Framed           00393 [card blank]         Framed         Framed           00394 [card blank]         Framed         Framed           00395 [card blank]         Framed         Framed           00396 [card blank]         Framed         Framed	00386	Red Orb White Forms		28.5					Framed	Signed	
00389         Mama Bear         Mixed media collage         40.25         19.25         Framed         Signed         bottom right           00390         Oil on board         42.25         34.5         40.5         33         1337         Framed         Signed         bottom right           00391         [card blank]         Framed         Framed         Framed           00392         [card blank]         Framed         Framed           00393         [card blank]         Framed         Framed           00394         [card blank]         Framed         Framed           00395         [card blank]         Framed         Framed	00387			23.25		16.75	10.75	180	Framed	Signed	bottom right
00390         Oil on board         42.25         34.5         40.5         33         1337         Framed         Signed         bottom right           00391         [card blank]         Framed         Framed           00392         [card blank]         Framed         Framed           00393         [card blank]         Framed         Framed           00394         [card blank]         Framed         Framed           00395         [card blank]         Framed         Framed	00388	Bring in the Clowns 1990	Mixed media collage	33.38	27				Framed	Signed	bottom right
00391 [card blank]         Framed           00392 [card blank]         Framed           00393 [card blank]         Framed           00394 [card blank]         Framed           00395 [card blank]         Framed           00396 [card blank]         Framed	00389	Mama Bear	Mixed media collage						Framed	Signed	bottom right
00392 [card blank]         Framed           00393 [card blank]         Framed           00394 [card blank]         Framed           00395 [card blank]         Framed           00396 [card blank]         Framed	00390		Oil on board	42.25	34.5	40.5	33	1337	Framed	Signed	bottom right
00393 [card blank]         Framed           00394 [card blank]         Framed           00395 [card blank]         Framed           00396 [card blank]         Framed	00391	[card blank]							Framed		
00394 [card blank]         Framed           00395 [card blank]         Framed           00396 [card blank]         Framed	00392	[card blank]							Framed		
00394 [card blank]         Framed           00395 [card blank]         Framed           00396 [card blank]         Framed	00393	[card blank]							Framed		
00396 [card blank] Framed	00394	[card blank]							Framed		
00396 [card blank] Framed	00395	[card blank]							Framed		
	00396	[card blank]							Framed		
	00397	Orb Study #2	Mixed media collage	8.25	7.25				Framed	Signed	bottom right
	00398	-									•
	00399					9	8	72	Unframed		
	00400		Oil & mixed media on car	ivas		8	8				

Last updated: 02/07/2013

acou.	O	_0.0
Printe	d: 2/8/2	2013

					itaiog						1
,	Title	Year	Medium	Fram H	Fram W			Area(sq in)	Framed?	Signed?	Sign location
00401			Oil on canvas			24	20	480	Unframed		
00402			Oil on canvas			20	16	320		Unsigned	
			Pen & ink &charcoal		21.75				Framed	Signed	bottom right
	Elliswood (with sheep)	1967	Pen & ink &charcoal		21.75				Framed	Signed	bottom right
00405			Watercolor on paper	17.5					Framed		
	Green Orbs, Red Forest			16	21.75						
00407											
	Bull		Glicee of watercolor o	n paper							
	Salad Bowl										
	Woods									Signed	bottom left
	Piers										
	[orange brown blue]									Signed	bottom right
	Laughing Irises		Glicee of watercolor o	n paper							
	Women and Children Left [re	ed]	Giclee of Pen & ink dr	awing							
00415	Mums										
00416	Snow Waif					17	8.675	147			
00417	Two Spanish Tiles			15.25	22				Framed		
00418	Forest Mountain Steps		Charcoal	24	18				Framed		
00419	City Fences			17	24.25				Framed		
00420	Slow Dance			19.5	25.5				Framed		
00421	New Arrivals		Water color	16.75	26.75				Framed		
00422	Small Orbs and Tree Figure	!		26.75	18.75				Framed		
00423	Chiaroscuro			27	19				Framed		
00424	Family			19.25	25.75				Framed		
00425	Spanish Mountain Village		Pen & ink on paper	20	24.5				Framed		
00426	Women and Children Left [b	rown		14	18.5				Framed		
00427	Cityscape: Green			14.25	15.88				Framed		
	Cityscape: Yellow			14.25	15.88				Framed		
	Cityscape: Blue			14.25	15.88				Framed		
	Holocaust			15.5	14.25				Framed	Signed	bottom right
00431	Shattered Pilings		Pencil on paper	14.25	16.75				Framed		
	Gold and Russet Abstract		Paint	14.25	15.75				Framed	Signed	bottom left
	Woman in Red Coat		Watercolor	17	14.75				Framed		
	Tree			18	13.75				Framed	Signed	bottom right
	Fiddling		Silkscreen	18.5	15.25				Framed		J
	Jamacian Vendor			18.75	17				Framed	Signed	bottom cent
	Battered Bride			15.5	16				Framed	Signed	bottom right
	Rice Paper Dancers			18.75	16				Framed	J	
	Emerging Figures			20	16				Framed		
	Still Life with Green Bottle			21.25	17				Framed		

		T	T	riaiog					T	
,	Title Year	Medium			Work H	Work W	Area(sq in)	Framed?	Signed?	Sign location
00441	Ready to Sail		17	21				Framed		
00442	Three Figures			20.75				Framed		
00443	Shattered Shields		13.5					Framed		
00444	Mature Tree Trunk		17.5	15				Framed		
00445	Green Orbs - Red Forest									
00446	Jeweled Shields									
00447	Ovens									
00448	Black Nude							Framed	Signed	bottom right
00449	Tea Time									
00450	Jungle							Framed	Signed	bottom left
00451	Arches							Framed		
00452	Dessert Platter							Framed	Signed	bottom left
	Fiesta									
00454	Family									
00551	Lighthouse									
ds = Di	rect Scan of Unnumbered Works									
ds001	Quarry Pool	Mixed media on board			7	8.5	60	Unframed	Signed	on back
ds002	Broken Columns	Craypod on paper			8.7	6	52		Unsigned	
ds003	Greenhouse in Wooded Park	Oil on board			11.63	14.25	166	Unframed	Signed	lower right
ds004	(Mountains, Rocks, Water 1 of 3	Craypod on paper			7	9	63		Unsigned	J
ds005	(Mountains, Rocks, Water 2 of 3				7	9	63		Unsigned	
ds006		Craypod on paper			7	9	63		Unsigned	
ds007	Tending Park Garden	Paste on board?			8.13	14	114		Unsigned	
ds008	Still Life with Canteen	Oil & charcoal on board			9	12.2	110		Unsigned	
ds009	Still Life, Bottle, Fruit, Blue Cloth				9	11.75	106	Unframed		
ds010	Tree Trunk	Paste on paper			8.8	11.5	101		Unsigned	
ds011	Pink Beach Rock	Crayon on paper			8.75	11.75	103		Unsigned	
ds012	Misty fence and tree trunk	Paste on board?			8	12	96		Unsigned	
ds013	Terraced walk	Ink on board			6.75	10.75	73		Unsigned	
ds014	Containers in shed	Ink on board			7	10.75	75		Unsigned	
ds015	Walkway to beach	Oil on board			8	9	72	Unframed		lower right
ds016	Dunes	Paste on paper			6	9			Unsigned	2.1.21.1.3.14
ds017	Moored / beach skies	Paste on paper			6	9	54		Unsigned	
ds017	Play	Crayon on paper			5	8	40		Unsigned	
ds019	Mariachis	Ink on board			6.875	5.5	38		Unsigned	
3010	Manadina	nik on board	1		5.575	5.5	50	Jimanieu	Juliagueu	

ds020         Mariachi (back of ds019)         Ink on board         6.875         5.5         38         Unframed U	Unsigned Unsigned Unsigned	Sign location
ds021Woman in pleated skirtInk on board6.54.7531Unframed Unframed Un	Unsigned Unsigned Unsigned	
ds022 Beach Palms Ink on board 5.5 6.75 37 Unframed U	Unsigned Unsigned	
	Unsigned	
ds023   Seated man with case   Ink on board   6.75   5.5   37   Unframed   Un		
ds024 Flying Balloons Crayon on stiff paper 3.75 9 34 Unframed U		
ds025 Bending Nude Soft pencil on paper 9 6 54 Unframed U		
ds026   Woman head & bare shoulder   Water color on practice paper, black &   11   9.875   109   Unframed   Un		
ds027 Bald man head & shoulder Water color on paper, washed 11.88 8.875 105 Unframed U		
ds028 Picnic in the field Charcoal & soft pencil on paper 9.75   13.75   134   Unframed U		
ds029   Figure on back, knees bent   Charcoal & soft pencil on paper   9.75   13.75   134   Unframed   Unframe		
ds030 House on hillside Crayon on paper 6 9 54 Unframed U	Unsigned	
ds031 Mountain shacks Crayon on paper 7.25 9.25 4.375 6.375 28 Matted L	Unsigned	
ds032 Promentory house 1 Pencil on paper 9 12 108 Unframed L	Unsigned	
ds033 Promentory house 2 Brown pen on paper 9 12 108 Unframed U	Unsigned	
ds034 Marshgrass & Bridge Pastel on board 8 14 112 Unframed L		
ds035 Two boys fishing lakeside 1 Charcoal on brown paper 8.75 11.75 103 Unframed U		
ds036 Two boys fishing lakeside 2 Charcoal on brown paper 8.75 11.75 103 Unframed L	Unsigned	
ds037 Stone Shed Charcoal on paper 9.875 13.75 136 Unframed L	Unsigned	
ds038 Seaside House Brown pencil on heavy paper 9 11.88 107 Unframed L	Unsigned	
ds039 House on hill across inlet Brown pencil on heavy paper 9 11.88 107 Unframed L	Unsigned	
ds040 Shore house & pilings Brown pencil on heavy paper 5 3.25 16 Unframed L	Unsigned	
ds041 Stony Beach at Woods Hole Soft pencil on paper 8.875 11.75 104 Unframed S	Signed	lower left
ds042 Moored Sailboat Soft pencil on paper 8.875 11.75 104 Unframed U	Unsigned	
ds043 Inn & Mill [missing] Brown pencil on heavy paper		
ds044 Seated black nude 1 Soft pencil on paper 10 8 80 Unframed L	Unsigned	
ds045 Seated black nude 2 Soft pencil on paper 8 10 80 Unframed L	Unsigned	
ds046 Path from house down to water Temp & oil on board 8.375 11.38 95 Unframed S	Signed	lower right a
ds047 Small Greek Head Charcoal & pencil on paper 3.87 5.75 22 Unframed L	Unsigned	
ds048 (Pier & pilings & gear Water color and pen on p 8 10 4.25 7.37 31 Matted S	Signed	on back
ds049 (Blonde peering out rear wil Mixed media on paper 10 11.67 117 Unframed U		
ds050 (Living room interior) Water color on paper 9 12 108 Unframed L		
ds051 Stone Wall Oil on paper 6.5 25 163 Unframed S		lower left
ds052 delete same as ds003		
ds053 Leaning Nude with smock Charcoal on board 14 10.5 147 Unframed L	Unsigned	
ds054 Standing Nude with smock Charcoal on board 14.5 10 145 Unframed L	Unsigned	

;Cat No	Title	Year	Medium	Fram H	Fram W	Work H	Work W	Area(sq in)	Framed?	Signed?	Sign location
	Notes:										
	Catalog No oonnn=Robert's	s cata	log number; dsnnn= direc	t scan	of unnu	mbere	d;				
	Title: = title of work; (if paren) = description rather than name										
	Some works have the same titles as others, although different works. The titles are Rose's and have been kept as is.										
	Year: = date of work (if know) e = early m=mid l=late, eg. ml60s = mid to late 1960s, R = reworked										
	Size: in inches (paren) = unframed size H: = height W: = width										
	Frame size: in inches = size or work including frame (or matte if matted, but unframed)  Area: in square inches = area using unframed size (automatically calculated)										
	Series:										
	SubSer: = Sub series										
	DegAbs: = Degree of abstra	action	(from 1 - Very representa	itional t	o 5 - Ve	ery abs	tract)				
	Subject Matter:										